ITI Turner 1st Year Module 8 Thread cutting & Gear calculation

(1). What is the gear marked as ‘x’? | X”Wﬁl’%ﬂﬁﬂ?%?

(A) Spindle gear | fsd iR

(B) Tumbler gear | oo IR

(C) Stud gear | ws iR

(D) Lead screw gear | ?ﬁ's’@"ﬁlﬂ?

Correct Answer : A

(2). Which type of thread is produced by tap and die? | g @T@gmm
JHR b1 qo! Sadliad Pi ol &7

(A) Square thread | a1ﬁ$r\f€|§°r

(B) ACME thread |Qaﬁa§°r

(C) V-thread | V- TSl

(D) Saw - tooth thread | &ﬂﬁﬁaﬂ?ﬁ

Correct Answer : C




(3). Which method of threading is used in mass production? | ded 3dlg H

AT P i T AfY g 1 Sl 82

(A) Use single point cutting tool | U fag i 3R &1 TART
(B) Thread grinding | %S ATSIST

(C) Using taps and dies | ¢J 3R ST &1 WART

(D) Thread rolling | U8 JTeiT

Correct Answer : D

(4). Which terms are needed to calculate tool life index? | 3SR 3 JADTh
J1d B & U fhge! Sexd usdi 82

(A) Cutting speed and feed | W‘Tﬁf@qﬁg

(B) Depth of cut and rpm | d?dﬁ‘l@'{lé@ RPM

(C) Cutting speed M/min | HicT s M/min
(D) Cutting speed and rpm of job | Wwﬁmmwwqﬁrﬁrﬁz

Correct Answer : C

(5). What is thread element that determine the direction of rotation on screw

thread? | TS! BT P AT dd g SNl Ud TS| P UM B G FHYTRT B 82
(A) Pitch of thread | TSI ! fUd

(B) Lead of thread | TSI HI il

(C) Depth of thread | TSI & TeRT%

(D) Hand of thread | TSI T BT

Correct Answer : D



(6). Which parameter of a thread is measured by three wire method? | RIGICICH
YUl §RT 98 1 I I dcd HIUT STl g2

(A) Pitch | fodT

(B) Major diameter | g U

(C) Minor diameter | oY UMY

(D) Effective diameter | UHTG! A

Correct Answer : D

(7). What is the name of operation? | WWWW%?

(A) Tapping | QI8

(B) Thread grinding | &I GG T
(C) Thread rolling | &R AT
(D) Thread milling | T e

Correct Answer : C



(8). What is formula of gear ratio for cutting threads? | @W%%’QW
3T &1 G T g2

DRIVER ~ LEAD OF WORK
DRIVEN LEAD OFLEAD SCREW

(A)
DRIVER ~ PITCHOF WORK
(®) DRIVEN LEADOFLEADSCREW
DRIVER LEAD OF LEADSCREW
©) DRIVEN LEAD OF WORK
DRIVER PITCHOFLEADSCREW
(D) DRIVEN LEADOF LEADSCREW

Correct Answer : A

(9). Which instrument has this type of measuring anvils? | fog IuH | AU

24 39 UPHR &1 8T8 &1 ST 82

<R
eH<4h

(A) Screw thread micrometer | @Q@mﬁ

(B) Ball micrometer | aid HI%Q’J\IHGICQ




(C) Tubular micrometer | WW
(D) Digital micrometer | %ﬁl?ﬂrﬂgﬁjﬂa

Correct Answer : A

(10). How many un-numbered divisions on the British chasing dial? | fafcr gs

IR Srae | foAT 3fp! ardt fopdm favye gid 82

(A) 3

(B) 4

(C) 12
(D) 18

Correct Answer : B

(11). What is the name of screw thread element marked as ‘X’'? | ‘X gIR] Ug qé |

F g da eI R E?

IVVVVL
AAAA

(A) Axis | 3f&f
(B) Lead | °I'§
(C) Helix | Bferag
(D) Pitch | TU

Correct Answer : B



(12). Which form of thread is widely used for fastening purpose? | BRI BRI B

fore forer 91 &1 TR o STt g2
(A) V-thread | V-gol

(B) Square thread | a7 &t

(C) Saw tooth thread | 3Rl Gid J&l
(D) Knuckle thread | el ISl

Correct Answer : A

(13). Which thread is recommended for pipe and pipe fittings? | UIQU GﬁT BIEE

i & for ford TSt Y SIIRIWT 1 STl 82
(A) BSW thread | BSW Jgl

(B) BSF thread | BSF ol

(C) BSP thread | BSP TSl

(D) BAthread | BA ISl

Correct Answer : C

(14). What is the name of the part marked as 'X'? | X’%Wﬁﬁﬁ%ﬂ YT hTATH
T g?



(A) Driver gear | SIgaR IR
(B) Idler gear | 3SR IR
(C) Driven gear | fga- R
(D) Tumbler gear | TR IR

Correct Answer : B

(15). Identify the parts marked as ‘x’ in a British chasing dial. | fafexr afSiTsaa

H'x & =0 H ffgd YT & ugaH |

H"“a__
H—\-H-H-\-"‘—\.

(A) Lead screw | TS &p

(B) Bevel gears | Sad AR
(C) Helical gears | gfciebe IR
(D) Hypoid gears | BI3UTS IR

Correct Answer : A

(16). Which is main criteria to increase the tool life? | IR 1 Wﬁ@%—ﬁﬁ
T HIUES 1 5?

(A) Feed | BIS



(B) Depth of cut | ¢ P! TGS
(C) Material | IR
(D) Cutting speed | GeRERII|

Correct Answer : D

(17). What is marked as ‘X'? | ‘X’ WW%@HWW%?

(A) Chuck | I

(B) Carriage | BIXST

(C) Lead screw | Tile &b

(D) Lead of thread | TSI DI TS

Correct Answer : C



(18). What is the name of the item marked as “X” in thread measurement? | T’Eﬁ
AU ® Ugad X R fafgd UM &1 | 82

(A) Precision rollers | G e
(B) Slip gauge pack | F&T0 I U
(C) Plug gauge | WISl

(D) Pin gauge | O S

Correct Answer : A

(19). Which is the chip less method of thread production? | Eljﬁﬁﬂfmﬁﬁl'q

Mafafrpm g

(A) Die head | TS 88

(B) Thread rolling | 3 i
(C) Thread milling | 98 fafeiT
(D) Thread grinding | € ATSFST

Correct Answer : B



(20). Identify the part marked as ‘X’ in a British chasing dial. | fafesr g afdm
A o H X GRI fafed UM HTAH B

¥

Yoo
AT

T

%
T

(A) Crown gear | 13- IR
(B) Worm gear | Jftiel TRRY
(C) Helical gear | UTGR R
(D) Bevel gear | §ad R

Correct Answer : B

(21). What type of thread can be produced by a die? | aﬁmmwﬁ%@
IdTfed P ST g2

(A) Internal V - thread | 3aRe® v - 5]33[

(B) External V -thread | WV -Els_bf

(C) Internal square thread | Wﬁﬂﬁﬁ
(D) External square thread | amﬁaﬁﬁw;ﬁ

Correct Answer : B



(22). What is measured on internal thread? | Wq@u‘rﬁwwwév

(A) Measuring major diameter | ded oI HIU

(B) Measuring minor diameter | < Uy HIU-

(C) Measuring effective diameter | UHTG! I HI9H
(D) Measuring pitch diameter | fOrar g 9=

Correct Answer : B

(23). What is the name of the item marked as “X”? | “x” Wﬁ%ﬁaﬁﬁw

CRIERE




(A) Taper parallels | TUR URdTdl
(B) Sine bar | 139 dR

(C) Slip gauge | AU

(D) Drift | fSUe.

Correct Answer : A

(24). What is the name of gear marked as ‘x’? | X" WWWWWW%?

(A) Spindle gear | s R

(B) Tumbler gear | R IR

(C) Stud gear | ws iR

(D) Lead screw gear | ?ﬁ_s'@ﬁl?ﬂ

Correct Answer : D

(25). Which diameter is maintained in a job for making threads by rolling? | INK

SRI et Ao & 1 & oy oy &1 91 X1 11T 82




(A) Major diameter | UHY HTH
(B) Minor diameter | oY U
(C) Pitch diameter | IPEK2IES)
(D) Root diameter | *C UMY

Correct Answer : C



